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COURSE CODE (CREDITS):25B11HS311(3) MAX. MARKS: 15
COURSE NAME: Economics

' COURSE INSTRUCTORS: TGM, BLK ' MAX. TIME: 1 Hour
Note: (a) All questions are compulsory. ﬁ%é

(b) The candidate is allowed to make Suitable numeric assumptions wherever reﬁ?f‘ég Ly
for solving problems ’
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Q.No : Question % % ¢ % CO | Marks

Q1 For each of the following scenarios, use a supply and demand diagram to;glhfstrét'& 3 (1*5=5)
the effect of the given shock on the equilibrium price and quantity in"ﬁl‘fef.,,gﬁegy ed
competitive market. Explain whether there is a shift in the demand @;ﬁ?”%e, the

supply curve, or neither. P 4 :

(a) An unexpected temporary heat wave hits the East Coasfgh&q;f’f?é effect in the
ice cream market in the surrounding area. - s, %% h e

(b)The government introduces a tax on ice cream whléﬁf@%ffa;d‘%r producers. What
is the effect in the ice cream market? %;;% , L%"

(c) China and Mexico are major producers of t;;ﬁl% %ﬁﬂfkers in Mexico decide to

go on strike. Show the effect on the market fos MExigati-textiles.
{d) Show the effect of the situation descﬁ%;g%@; 4(c) on the market for Chinese

textiles. Yo, b U,
(e} Suppose the government hnposes{%?em-l g*"@ap on bottled water. Show the effect

in the bottled water market. ., % g%

Q2 A manufacturer currently sclls@, {ﬁgigﬁif“s of a product at a price of Rs. 2,500. Per | 3 (1+2+2=5)
capita income is projected to ri % dm Rs. 30,000 to Rs. 31,000, leading to an

expected increase in sales'tg 5,400 tnits at the same price.

(a)Calculate the arc ipcome élagticity of demand. ‘

(b) The company;; o d'fnis%estimates that if the price is increased to Rs. 2,700,

sales will fall Y %,gg&%mm. Calculate the arc price elasticity of demand and the

correspondingteyenugy

(c) Should'tlie cotapany raise the price beyond Rs. 2,700? Explain.

Q3. Two cﬁ,&lﬁriesf “A and B, have the following annual production possibilities: 2 (1%2=2}
Co Vfi‘t;yﬁ’xa _ Cars Computers
A, et 60 120

a) State which country has an absolute advantage in cars and in computers.
b) Identify the comparative advantage of each country.

Q4. a) Explain with diagram, why the PPC is typically concave to the origin. 1 (1*¥3=3)
b) Describe briefly any two limitations of the command economy.
¢} Economic analysis is marginal analysis. Comment.
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